


  - Facilitate community groups focusing on varying topics 
 

 
Wyoming Family Home Ownership Program, Cheyenne, 



- Lead a panel of 3-5 members as they make recommendations to Department of Health 
& Welfare staff 
-Attend conferences and represent Region III as needed 
-Recruit, interview and coordinate new panel members 

 
Wyoming’s Road Home (Co-Chair), Statewide/Wyoming                                             2013 - 2014 

  - Creating a 10-year plan to eliminate homeless in the state of Wyoming 
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